BID TABULATION

BIDS EXTENDED AND CHECKED

BY:
DATE: October 15, 2025

LOCATION:	Virtual (Teams)		Company Name:				Austin Engineering Co., Inc				Blackrock Construction	
BID DATE:	10/15/2025			Statement of Safety? Yes Addendum(s)? Bid Bond? Yes		Statement of Safety? Yes Addendum(s)? Bid Bond? Yes		Statement of Safety? Yes Addendum(s)? Bid Bond? Yes		Statement of Safety? Yes		
										Addendum(s) Bid Bond?		
		4 DDD OV		Dia Dona.	T		I					
TEM #		APPROX QTY.	UNIT	UNIT PRICE	COST	UNIT PRICE	COST	UNIT PRICE	COST	UNIT PRICE	COST	
TIME II	1 PREPARING RIGHT OF WAY	1	LS	\$19,986.26			\$180,000.00	\$173,347.27	\$173,347.27	\$51,565.00	\$51,565.0	
	2 CLEARING AND GRUBBING	3	AC	\$10,355.00	\$31,065.00	\$18,700.00	\$56,100.00	\$7,321.67	\$21,965.01	\$10,000.00	\$10,000.	
	JACKING OR BORING, STEEL ENCASEMENT PIPE, 42-											
	3 INCH DIA	340	LF	\$1,361.80	\$463,012.00	\$1,150.00	\$391,000.00	\$898.75	\$305,575.00	\$1,230.00	\$418,200.	
	4 TRENCH SAFETY SYSTEMS (ALL DEPTHS)	10500	LF	\$6.25	\$65,625.00	\$1.00	\$10,500.00	\$2.65	\$27,825.00	\$0.50	\$5,250.	
	PIPE, 6-INCH DIA PVC C900, RESTRAINED (ALL											
	DEPTHS), INCLUDING EXCAVATION AND 5 BACKFILL	120	LF	\$83.71	\$10,045.20	\$1.00	\$120.00	\$68.30	\$2,106,00	\$120.00	\$14,400.	
	PIPE, 8-INCH DIA PVC C900 (ALL DEPTHS),	120	LF	\$83./1	\$10,043.20	\$1.00	\$120.00	\$08.30	\$8,196.00	\$120.00	\$14,400.	
	6 INCLUDING EXCAVATION AND BACKFILL	40	LF	\$210.21	\$8,408.40	\$550.00	\$22,000.00	\$75.47	\$3,018.80	\$125.00	\$5,000.0	
	PIPE, 12-INCH DIA PVC C900 (ALL DEPTHS),			Ψ210.21	\$6,100.10	φ220.00	\$22,000.00	Ψ75.17	\$3,010.00	ψ123.00	ψ3,000.	
	7 INCLUDING EXCAVATION AND BACKFILL	60	LF	\$131.25	\$7,875.00	\$560.00	\$33,600.00	\$112.22	\$6,733.20	\$130.00	\$7,800.	
	PIPE, 16-INCH DIA DUCTILE IRON, RESTRAINED											
	(ALL DEPTHS), INCLUDING EXCAVATION AND											
	8 BACKFILL	20	LF	\$216.72	\$4,334.40	\$1.00	\$20.00	\$181.42	\$3,628.40	\$180.00	\$3,600.0	
	PIPE, 24-INCH DIA DUCTILE IRON (ALL DEPTHS),	60.16		4	0011	4.0	no tra	4.0 - 1.1	0.2 = 0.2	4.0	04 50 5	
	9 INCLUDING EXCAVATION AND BACKFILL	6940	LF	\$305.13	\$2,117,602.20	\$305.00	\$2,116,700.00	\$256.89	\$1,782,816.60	\$243.00	\$1,686,420.	
	PIPE, 24-INCH DIA DUCTILE IRON, RESTRAINED (ALL DEPTHS), INCLUDING EXCAVATION AND											
	10 BACKFILL	3070	LF	\$375.49	\$1,152,754.30	\$375.00	\$1,151,250.00	\$343.99	\$1,056,049.30	\$324.00	\$994,680.	
	PIPE, 24-INCH DIA DUCTILE IRON, RESTRAINED	3070	LI	φ3/3. 4 9	\$1,132,734.30	\$373.00	\$1,131,230.00	\$343.99	\$1,030,049.30	\$324.00	\$994,080.	
	(ALL DEPTHS), INCLUDING EXCAVATION AND											
	11 CEMENT STABILIZED SAND BACKFILL	100	LF	\$533.19	\$53,319.00	\$485.00	\$48,500.00	\$373.53	\$37,353.00	\$415.00	\$41,500.	
	PIPE, 24-INCH DIA HDPE DR 11 (DIPS, ALL DEPTHS),											
	INCLUDING EXCAVATION AND CEMENT											
	12 STABILIZED SAND BACKFILL	500	LF	\$567.99	\$283,995.00	\$675.00	\$337,500.00	\$222.94	\$111,470.00	\$330.00	\$165,000.	
	PIPE, 24-INCH DIA HDPE DR 11 (DIPS, ALL DEPTHS),											
	13 INCLUDING EXCAVATION AND BACKFILL	800	LF	\$214.56		\$240.00	\$192,000.00	\$181.28	\$145,024.00		\$200,000.	
	14 DUCTILE IRON FITTINGS 4 INCH THROUGH 24 INCH	22	TN	\$4,753.87	\$114,092.88	\$7,500.00	\$165,000.00	\$10,216.24	\$224,757.28	\$5,700.00	\$125,400.	
	15 WET CONNECTIONS, 8-INCH DIA 16 WET CONNECTIONS, 12-INCH DIA	1	EA EA	\$5,757.37 \$6,248.88		\$5,500.00 \$6,500.00	\$5,500.00 \$6,500.00	\$3,866.60 \$6,303.90	\$3,866.60 \$6,303.90	\$5,765.00 \$6,700.00	\$125,400. \$6,700.	
	17 WET CONNECTIONS, 16-INCH DIA	1	EA	\$7,297.49	\$7,297.49	\$13,500.00	\$13,500.00	\$8,600.73	\$8,600.73	\$12,625.00	\$12,625.	
	18 WET CONNECTIONS, 24-INCH DIA CUT-IN TEE	1	EA	\$19,103.40		18,000.00		\$22,903.18	\$22,903.18	\$14,850.00	\$14,850.	
	19 DRAIN VALVE ASSEMBLIES	5	EA	\$12,003.15		\$4,000.00	\$20,000.00	\$14,409.61	\$72,048.05	\$7,000.00	\$35,000.	
	AUTOMATIC COMBINATION AIR/VACUUM											
	20 RELEASE VALVE ASSEMBLY, TYPE II, 3-INCH DIA	6	EA	\$28,206.57	\$169,239.42	\$45,000.00	\$270,000.00	\$28,634.01	\$171,804.06	\$31,055.00	\$186,330.	
	21 VALVES, GATE VALVE (WITH BOX), 6-INCH DIA	5	EA	\$2,752.01	\$13,760.05	\$1.00	\$5.00	\$2,969.66	\$14,848.30	\$2,540.00	\$12,700.	
	22 VALVES, GATE VALVE (WITH BOX), 8-INCH DIA	1	EA	\$3,413.26		\$1.00	\$1.00	\$3,947.74	\$3,947.74	\$3,133.75	\$3,133.	
	23 VALVES, GATE VALVE (WITH BOX), 24-INCH DIA	9	EA	\$35,464.22	\$319,177.98	-	\$342,000.00	\$36,643.52	\$329,791.68	\$34,235.00	\$308,115.	
	24 SEEDING FOR EROSION CONTROL	9005	SY	\$3.65	\$32,868.25	\$3.00	\$27,015.00	\$0.98	\$8,824.90	\$1.50	\$13,507.	
	25 SOIL RETENTION BLANKET CLASS 1, TYPE C 26 PROTECTIVE FENCING TYPE A CHAIN LINK FENCE	200 520	SY LF	\$3.02 \$4.67	\$604.00 \$2,428.40	\$5.00 \$5.00	\$1,000.00 \$2,600.00	\$5.75 \$40.25	\$1,150.00 \$20,930.00	\$5.00 \$11.50	\$1,000. \$5,980.	
	27 TREE REMOVAL (ALL SIZES)	25	EA	\$1,008.90	\$25,222.50	\$350.00	\$8,750.00	\$258.75	\$6,468.75	\$1,050.00	\$26,250	
	28 ROCK BERM	330	LF	\$36.69	\$12,107.70	\$35.00	\$11,550.00	\$31.63	\$10,437.90	\$50.00	\$16,500	
	29 STABILIZED CONSTRUCTION ENTRANCE	4	EA	\$1,140.00	\$4,560.00	\$1,200.00	\$4,800.00	\$1,437.50	\$5,750.00	\$2,300.00	\$9,200.	
	30 SILT FENCE FOR EROSION CONTROL	11575	LF	\$3.30	\$38,197.50	\$5.00	\$57,875.00	\$3.59	\$41,554.25	\$4.15	\$48,036	
	31 MOBILIZATION	1	LS	\$135,659.80	\$135,659.80	\$200,000.00	\$200,000.00	\$203,400.85	\$203,400.85	\$320,000.50	\$320,000.	
	32 REMOVING EXISTING BARBED WIRE FENCE	750	LF	\$2.28	\$1,710.00	\$3.00	\$2,250.00	\$5.75	\$4,312.50	\$2.50	\$1,875	
	33 REMOVE AND REPLACE BARBED WIRE FENCE	70	LF	\$20.98	\$1,468.60	\$165.00	\$11,550.00	\$111.55	\$7,808.50	\$22.00	\$1,540	
	SAFETY FENCE, 4 FOOT HIGH, ORANGE PLASTIC											
	34 FENCE	300	LF	\$2.11	\$633.00	\$2.25	\$675.00	\$7.48	\$2,244.00		\$2,400	
	35 PROJECT SIGN 36 FLEXIBLE BASE REPAIR	540	EA SY	\$883.50			\$1,600.00	\$1,725.00	\$3,450.00		\$1,840 \$16,200	
	37 ASPHALT PAVEMENT REPAIR	1400	SY	\$32.57 \$31.01	\$17,587.80 \$43,414.00	\$16.50 \$31.00	\$8,910.00 \$43,400.00	\$29.76 \$136.43	\$16,070.40 \$191,002.00	\$30.00 \$50.00	\$16,200 \$70,000	
	38 CONCRETE PAVEMENT REPAIR	200	SY	\$204.69	\$40,938.00	\$200.00	\$40,000.00	\$201.25	\$40,250.00	\$190.00	\$38,000	
	39 BARRICADES, SIGNS, AND TRAFFIC HANDLING	6	MO	\$4,750.00	\$28,500.00	\$3,825.00	\$22,950.00	\$4,684.73	\$28,108.38	\$5,175.00	\$31,050	
	40 CONCRETE SIDEWALK REPAIR	25	SY	\$203.07	\$5,076.75	\$155.00	\$3,875.00	\$172.50	\$4,312.50		\$1,500	
	SWPPP AND NOI IN ACCORDANCE WITH ROUND		1		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
	41 ROCK DRAINAGE CRITERIA MANUAL	1	LS	\$2,850.00	\$2,850.00	\$4,200.00	\$4,200.00	\$8,625.00	\$8,625.00	\$3,500.00	\$3,500.	
	42 OWNER'S ALLOWANCE	1	LS	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000	
TOTAL												
	TOTAL BASE BID ALTERNATE BID AMOUNT		1		\$5,553,359.18 \$173,515.00		\$5,882,796.00 \$13,000.00		\$5,196,573.03 \$281,971.00		\$4,992,413. \$143,000.	
	TOTAL ALTERNATE BID		1		\$5,726,874.18		\$5,895,796.00		\$5,478,544.03		\$143,000. \$5,135,413.	

BID TABULATION

BIDS EXTEND	ED AND CHECKED
BY:	
DATE:	October 15, 2025

PROJECT: Kenney Fort Blvd. 24" Reuse Water Line
PROJECT: Kenney Fort Blvd. 24" Reuse Water Line

PROJECT:	Kenney Fort Blvd. 24" Reuse Water Line											
LOCATION: Virtual (Teams) BID DATE: 10/15/2025		Company Name:		-		Statement of Safety? Yes		Statement of Safety? Yes		Statement of Safety? Yes		
					Addendum(s)? Bid Bond? Yes		Addendum(s)? Bid Bond? Yes		Addendum(s)? Bid Bond? Yes		Addendum(s)? Bid Bond? Yes	
		APPROX		Bid Bolid:	I	UNIT		UNIT		UNIT	1 CS	
ITEM #		QTY.		UNIT PRICE	COST	PRICE	COST	PRICE	COST	PRICE	COST	
1	PREPARING RIGHT OF WAY	1	LS	\$68,000.00	\$68,000.00	\$26,900.00	\$26,900.00	\$25,000.00	\$25,000.00	\$157,000.00	\$157,000.00	
2	CLEARING AND GRUBBING JACKING OR BORING, STEEL ENCASEMENT PIPE, 42	3	AC	\$11,500.00	\$34,500.00	\$18,500.00	\$55,500.00	\$4,000.00	\$12,000.00	\$7,305.00	\$21,915.00	
3	INCH DIA	340	LF	\$1,250.00	\$425,000.00	\$1,350.00	\$459,000.00	\$1,300.00	\$442,000.00	\$1,545.50	\$525,470.00	
4	TRENCH SAFETY SYSTEMS (ALL DEPTHS)	10500	LF	\$1.00	\$10,500.00	\$0.50	\$5,250.00	\$1.00	\$10,500.00	\$3.05	\$32,025.00	
	PIPE, 6-INCH DIA PVC C900, RESTRAINED (ALL											
5	DEPTHS), INCLUDING EXCAVATION AND	120	1.5	ф1 2 0.00	Φ1.4.400.00	Φ105 00	Φ1 2 (00 00	Φ1.5.5.00	#10.C00.00	Φ.(7, 0.0	Φ 7 , 000, 00	
3	BACKFILL PIPE, 8-INCH DIA PVC C900 (ALL DEPTHS),	120	LF	\$120.00	\$14,400.00	\$105.00	\$12,600.00	\$155.00	\$18,600.00	\$65.00	\$7,800.00	
6	INCLUDING EXCAVATION AND BACKFILL	40	LF	\$130.00	\$5,200.00	\$155.00	\$6,200.00	\$180.00	\$7,200.00	\$163.00	\$6,520.00	
	PIPE, 12-INCH DIA PVC C900 (ALL DEPTHS),											
7	INCLUDING EXCAVATION AND BACKFILL	60	LF	\$170.00	\$10,200.00	\$195.00	\$11,700.00	\$205.00	\$12,300.00	\$178.00	\$10,680.00	
	PIPE, 16-INCH DIA DUCTILE IRON, RESTRAINED											
8	(ALL DEPTHS), INCLUDING EXCAVATION AND BACKFILL	20	LF	\$240.00	\$4,800.00	\$305.00	\$6,100.00	\$274.00	\$5,480.00	\$250.50	\$5,010.00	
	PIPE, 24-INCH DIA DUCTILE IRON (ALL DEPTHS),			Ψ210100	\$ 1,000100	φ202.00	\$0,100.00	Ψ27.1100	\$2,100.00	\$200.00	φε,στοισσ	
9	INCLUDING EXCAVATION AND BACKFILL	6940	LF	\$216.00	\$1,499,040.00	\$245.00	\$1,700,300.00	\$312.00	\$2,165,280.00	\$242.50	\$1,682,950.00	
	PIPE, 24-INCH DIA DUCTILE IRON, RESTRAINED											
10	(ALL DEPTHS), INCLUDING EXCAVATION AND BACKFILL	3070	LF	\$410.00	\$1,258,700.00	\$360.00	\$1,105,200.00	\$390.00	\$1,197,300.00	¢251.65	\$1,079,565.50	
	PIPE, 24-INCH DIA DUCTILE IRON, RESTRAINED	3070	Lr	\$410.00	\$1,238,700.00	\$300.00	\$1,103,200.00	\$390.00	\$1,197,300.00	\$331.03	\$1,079,363.30	
	(ALL DEPTHS), INCLUDING EXCAVATION AND											
11	CEMENT STABILIZED SAND BACKFILL	100	LF	\$600.00	\$60,000.00	\$595.00	\$59,500.00	\$452.00	\$45,200.00	\$470.00	\$47,000.00	
	PIPE, 24-INCH DIA HDPE DR 11 (DIPS, ALL DEPTHS),											
12	INCLUDING EXCAVATION AND CEMENT STABILIZED SAND BACKFILL	500	LF	\$550.00	\$275,000.00	\$475.00	\$237,500.00	\$336.00	\$168,000.00	\$535.42	\$267,710.00	
12	PIPE, 24-INCH DIA HDPE DR 11 (DIPS, ALL DEPTHS),	300	Lr	\$330.00	\$273,000.00	\$475.00	\$237,300.00	\$330.00	\$100,000.00	\$333.42	\$207,710.00	
13	INCLUDING EXCAVATION AND BACKFILL	800	LF	\$240.00	\$192,000.00	\$180.00	\$144,000.00	\$255.00	\$204,000.00	\$233.07	\$186,456.00	
14	DUCTILE IRON FITTINGS 4 INCH THROUGH 24 INCH	22	TN	\$4,500.00	\$99,000.00	\$8,200.00	\$180,400.00	\$200.00	\$4,400.00	\$6,310.50	\$138,831.00	
15	WET CONNECTIONS, 8-INCH DIA	1	EA	\$2,600.00	\$2,600.00	\$3,155.00	\$3,155.00	\$10,000.00	\$10,000.00	\$3,250.00	\$3,250.00	
16 17	WET CONNECTIONS, 12-INCH DIA WET CONNECTIONS, 16-INCH DIA	1 1	EA EA	\$4,200.00 \$8,500.00	\$4,200.00 \$8,500.00	\$3,700.00 \$6,465.00	\$3,700.00 \$6,465.00	\$12,000.00 \$13,000.00	\$12,000.00 \$13,000.00	\$6,400.00 \$9,185.00	\$6,400.00 \$9,185.00	
18	WET CONNECTIONS, 10-INCH DIA CUT-IN TEE	1	EA	\$26,000.00	\$26,000.00	\$9,400.00	\$9,400.00	\$22,000.00	\$22,000.00	\$25,200.00	\$25,200.00	
19	DRAIN VALVE ASSEMBLIES	5	EA	\$13,000.00	\$65,000.00	\$7,050.00	\$35,250.00	\$11,000.00	\$55,000.00	\$16,250.00	\$81,250.00	
	AUTOMATIC COMBINATION AIR/VACUUM											
20	RELEASE VALVE ASSEMBLY, TYPE II, 3-INCH DIA	6	EA	\$31,500.00	\$189,000.00	\$31,600.00	\$189,600.00	\$26,500.00	\$159,000.00	\$53,850.00	\$323,100.00	
22	VALVES, GATE VALVE (WITH BOX), 6-INCH DIA VALVES, GATE VALVE (WITH BOX), 8-INCH DIA	5	EA EA	\$2,900.00 \$3,600.00	\$14,500.00 \$3,600.00	\$2,825.00 \$3,500.00	\$14,125.00 \$3,500.00	\$2,800.00 \$3,800.00	\$14,000.00 \$3,800.00	\$2,750.00 \$4,750.00	\$13,750.00 \$4,750.00	
23	VALVES, GATE VALVE (WITH BOX), 34-INCH DIA	9	EA	\$37,500.00	\$337,500.00	\$40,000.00	\$360,000.00	\$39,000.00	\$351,000.00	\$36,725.00	\$330,525.00	
24	SEEDING FOR EROSION CONTROL	9005	SY	\$1.75	\$15,758.75	\$8.00	\$72,040.00	\$2.00	\$18,010.00	\$1.60	\$14,408.00	
25	SOIL RETENTION BLANKET CLASS 1, TYPE C	200	SY	\$3.50	\$700.00	\$3.00	\$600.00	\$2.00	\$400.00	\$3.64	\$728.00	
26	PROTECTIVE FENCING TYPE A CHAIN LINK FENCE	520	LF	\$8.50	\$4,420.00	\$4.50	\$2,340.00	\$5.00	\$2,600.00	\$23.85	\$12,402.00	
28	TREE REMOVAL (ALL SIZES) ROCK BERM	25 330	EA LF	\$1,050.00 \$50.00	\$26,250.00 \$16,500.00	\$465.00 \$30.00	\$11,625.00 \$9,900.00	\$900.00 \$55.00	\$22,500.00 \$18,150.00	\$2,428.97 \$45.50	\$60,724.25 \$15,015.00	
29	STABILIZED CONSTRUCTION ENTRANCE	4	EA	\$3,000.00	\$12,000.00	\$1,100.00	\$4,400.00	\$2,000.00	\$8,000.00	\$2,650.00	\$10,600.00	
30	SILT FENCE FOR EROSION CONTROL	11575	LF	\$5.00	\$57,875.00	\$3.00	\$34,725.00	\$4.00	\$46,300.00	\$3.86	\$44,679.50	
31	MOBILIZATION	1	LS	\$245,000.00		\$115,000.00	\$115,000.00	\$272,889.00	-	\$287,700.00	\$287,700.00	
32 33	REMOVING EXISTING BARBED WIRE FENCE	750	LF	\$5.00	\$3,750.00	\$4.00	\$3,000.00	\$4.00	\$3,000.00	\$6.83	\$5,122.50	
33	REMOVE AND REPLACE BARBED WIRE FENCE SAFETY FENCE, 4 FOOT HIGH, ORANGE PLASTIC	70	LF	\$40.00	\$2,800.00	\$65.00	\$4,550.00	\$45.00	\$3,150.00	\$46.00	\$3,220.00	
34	FENCE, 4 FOOT HIGH, ORANGE FLASTIC	300	LF	\$3.00	\$900.00	\$2.00	\$600.00	\$2.00	\$600.00	\$3.90	\$1,170.00	
35	PROJECT SIGN	2	EA	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00	\$910.00	\$1,820.00	
36	FLEXIBLE BASE REPAIR	540	SY	\$30.00	\$16,200.00	\$25.00	\$13,500.00	\$220.00	\$118,800.00	\$50.90	\$27,486.00	
37 38	ASPHALT PAVEMENT REPAIR CONCRETE PAVEMENT REPAIR	1400 200	SY SY	\$58.00			\$105,000.00				\$237,328.00	
39	BARRICADES, SIGNS, AND TRAFFIC HANDLING	6	MO	\$115.00 \$7,500.00	\$23,000.00 \$45,000.00	\$160.00 \$3,800.00	\$32,000.00 \$22,800.00	\$170.00 \$2,000.00	\$34,000.00 \$12,000.00	\$244.22 \$3,000.00	\$48,844.00 \$18,000.00	
40	CONCRETE SIDEWALK REPAIR	25	SY	\$95.00	\$2,375.00	\$165.00	\$4,125.00	\$145.00	\$3,625.00	\$157.62	\$3,940.50	
	SWPPP AND NOI IN ACCORDANCE WITH ROUND											
41	ROCK DRAINAGE CRITERIA MANUAL	1	LS	\$8,200.00	\$8,200.00	\$2,000.00	\$2,000.00	\$5,000.00	\$5,000.00	\$6,100.00	\$6,100.00	
42	OWNER'S ALLOWANCE	1	LS	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	
	TOTAL BASE BID	,			\$5,221,168.75		\$5,125,550.00		\$5,631,284.00		\$5,816,130.25	
	ALTERNATE BID AMOUNT	1			\$226,500.00		\$238,500.00		\$205,200.00		\$185,365.00	
	TOTAL ALTERNATE BID				\$5,447,668.75		\$5,364,050.00		\$5,836,484.00		\$6,001,495.25	

PROJECT: PROJECT:

Kenney Fort Blvd. 24" Reuse Water Line Kenney Fort Blvd. 24" Reuse Water Line

BID TABULATION

BIDS EXTENDED AND CHECKED

BY:
DATE: October 15, 2025

LOCATION: Virtual (Teams) BID DATE: 10/15/2025		Company Name:		Garney Companies, Inc		MACH Energy Services		Packsaddle Management, LLC		Patin Construction	
				Statement of	•	Statement of	·	Statement of Safety? Yes		Statement of	•
				` ′		Addendum(s)?		Addendum(s)?		Addendum(s)?	
				Bid Bond?				Bid Bond? Yes		Bid Bond? Yes	
ITEM #		APPROX QTY.	1	UNIT PRICE		UNIT PRICE	COST	UNIT PRICE		UNIT PRICE	COST
1 EWI #	PREPARING RIGHT OF WAY	1	LS	\$500,000.00	\$500,000.00	\$100,000.00	\$100,000.00	\$40,000.00	\$40,000.00	\$75,000.00	\$75,000.00
2	CLEARING AND GRUBBING	3	AC	\$26,000.00	\$78,000.00	\$80,000.00	\$240,000.00	\$20,000.00	\$60,000.00	\$20,000.00	\$20,000.00
	JACKING OR BORING, STEEL ENCASEMENT PIPE, 42	_	1	4=0,000000	4,0,000	400,000.00	42.0,000.00	420,000.00	+ = = , = = = = =	4=0,000000	4=0,00000
3	INCH DIA	340	LF	\$2,500.00	\$850,000.00	\$2,500.00	\$850,000.00	\$1,085.00	\$368,900.00	\$1,300.00	\$442,000.00
4	TRENCH SAFETY SYSTEMS (ALL DEPTHS)	10500	LF	\$5.00	\$52,500.00	\$65.00	\$682,500.00	\$2.00	\$21,000.00	\$5.00	\$52,500.00
	PIPE, 6-INCH DIA PVC C900, RESTRAINED (ALL										
_	DEPTHS), INCLUDING EXCAVATION AND										
5	BACKFILL	120	LF	\$126.00	\$15,120.00	\$90.00	\$10,800.00	\$54.00	\$6,480.00	\$75.00	\$9,000.00
6	PIPE, 8-INCH DIA PVC C900 (ALL DEPTHS), INCLUDING EXCAVATION AND BACKFILL	40	1.5	¢150.00	¢ (000 00	¢100.00	¢4,000,00	070.00	#2 000 00	¢05.00	¢2 400 00
0	PIPE, 12-INCH DIA PVC C900 (ALL DEPTHS),	40	LF	\$150.00	\$6,000.00	\$100.00	\$4,000.00	\$70.00	\$2,800.00	\$85.00	\$3,400.00
7	INCLUDING EXCAVATION AND BACKFILL	60	LF	\$156.00	\$9,360.00	\$120.00	\$7,200.00	\$124.00	\$7,440.00	\$95.00	\$5,700.00
,	PIPE, 16-INCH DIA DUCTILE IRON, RESTRAINED		LI	\$150.00	\$9,500.00	\$120.00	\$7,200.00	\$124.00	\$7,440.00	\$75.00	\$3,700.00
	(ALL DEPTHS), INCLUDING EXCAVATION AND										
8	BACKFILL	20	LF	\$185.00	\$3,700.00	\$160.00	\$3,200.00	\$160.00	\$3,200.00	\$200.00	\$4,000.00
	PIPE, 24-INCH DIA DUCTILE IRON (ALL DEPTHS),										
9	INCLUDING EXCAVATION AND BACKFILL	6940	LF	\$200.00	\$1,388,000.00	\$220.00	\$1,526,800.00	\$340.00	\$2,359,600.00	\$275.00	\$1,908,500.00
	PIPE, 24-INCH DIA DUCTILE IRON, RESTRAINED										
	(ALL DEPTHS), INCLUDING EXCAVATION AND		1								
10	BACKFILL	3070	LF	\$300.00	\$921,000.00	\$260.00	\$798,200.00	\$444.00	\$1,363,080.00	\$400.00	\$1,228,000.00
	PIPE, 24-INCH DIA DUCTILE IRON, RESTRAINED		1								
11	(ALL DEPTHS), INCLUDING EXCAVATION AND CEMENT STABILIZED SAND BACKFILL	100	LF	\$510.00	\$51,000.00	\$1,200.00	\$120,000.00	\$470.00	\$47,000.00	\$425.00	\$42,500.00
	PIPE, 24-INCH DIA HDPE DR 11 (DIPS, ALL DEPTHS),	100	Lr	\$310.00	\$31,000.00	\$1,200.00	\$120,000.00	\$470.00	\$47,000.00	\$423.00	\$42,300.00
	INCLUDING EXCAVATION AND CEMENT										
12	STABILIZED SAND BACKFILL	500	LF	\$1,100.00	\$550,000.00	\$900.00	\$450,000.00	\$400.00	\$200,000.00	\$270.00	\$135,000.00
	PIPE, 24-INCH DIA HDPE DR 11 (DIPS, ALL DEPTHS),										
13	INCLUDING EXCAVATION AND BACKFILL	800	LF	\$270.00	\$216,000.00	\$200.00	\$160,000.00	\$350.00	\$280,000.00	\$330.00	\$264,000.00
14	DUCTILE IRON FITTINGS 4 INCH THROUGH 24 INCH	22	TN	\$7,500.00	\$165,000.00	\$40,000.00	\$880,000.00	\$6,500.00	\$143,000.00	\$10,000.00	\$220,000.00
15	WET CONNECTIONS, 8-INCH DIA	1	EA	\$28,500.00	\$28,500.00	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$10,000.00	\$10,000.00
16	WET CONNECTIONS, 12-INCH DIA	1	EA	\$32,500.00	\$32,500.00	\$7,500.00	\$7,500.00	\$2,700.00	\$2,700.00	\$18,000.00	\$18,000.00
18	WET CONNECTIONS, 16-INCH DIA WET CONNECTIONS, 24-INCH DIA CUT-IN TEE	1	EA EA	\$40,000.00 \$58,500.00	\$40,000.00 \$58,500.00	\$10,000.00 \$30,000.00	\$10,000.00 \$30,000.00	\$5,400.00 \$12,000.00	\$5,400.00 \$12,000.00	\$20,000.00 \$25,000.00	\$20,000.00 \$25,000.00
19	DRAIN VALVE ASSEMBLIES	5	EA	\$35,000.00	\$175,000.00	\$35,000.00	\$175,000.00	\$4,700.00	\$12,000.00	\$8,000.00	\$8,000.00
	AUTOMATIC COMBINATION AIR/VACUUM		LA	\$33,000.00	\$173,000.00	\$55,000.00	\$173,000.00	\$4,700.00	\$23,300.00	\$6,000.00	\$6,000.00
20	RELEASE VALVE ASSEMBLY, TYPE II, 3-INCH DIA	6	EA	\$60,500.00	\$363,000.00	\$35,000.00	\$210,000.00	\$31,000.00	\$188,400.00	\$42,000.00	\$252,000.00
21	VALVES, GATE VALVE (WITH BOX), 6-INCH DIA	5	EA	\$6,000.00	\$30,000.00	\$4,000.00	\$20,000.00	\$2,500.00	\$12,500.00	\$3,500.00	\$17,500.00
22	VALVES, GATE VALVE (WITH BOX), 8-INCH DIA	1	EA	\$4,750.00	\$4,750.00	\$6,000.00	\$6,000.00	\$3,500.00	\$3,500.00	\$4,500.00	\$4,500.00
23	VALVES, GATE VALVE (WITH BOX), 24-INCH DIA	9	EA	\$30,500.00	\$274,500.00	\$25,000.00	\$225,000.00	\$40,000.00	\$360,000.00	\$55,000.00	\$495,000.00
24	SEEDING FOR EROSION CONTROL	9005	SY	\$4.00	\$36,020.00	\$8.00	\$72,040.00	\$2.00	\$18,010.00	\$1.00	\$9,005.00
25	SOIL RETENTION BLANKET CLASS 1, TYPE C	200	SY	\$35.00	\$7,000.00	\$120.00	\$24,000.00	\$4.00	\$800.00	\$10.00	\$2,000.00
26	PROTECTIVE FENCING TYPE A CHAIN LINK FENCE	520	LF	\$6.00	\$3,120.00	\$100.00	\$52,000.00	\$6.00	\$3,120.00	\$25.00	\$13,000.00
28	TREE REMOVAL (ALL SIZES)	25 330	EA	\$17.50	\$43,750.00	\$2,500.00	\$62,500.00	\$480.00	\$12,000.00	\$500.00	\$12,500.00
29	ROCK BERM STABILIZED CONSTRUCTION ENTRANCE	33U 4	LF EA	\$65.00 \$4,500.00	\$21,450.00 \$18,000.00	\$150.00 \$25,000.00	\$49,500.00 \$100,000.00	\$40.00 \$1,300.00	\$13,200.00 \$5,200.00	\$75.00 \$2,000.00	\$24,750.00 \$8,000.00
30	SILT FENCE FOR EROSION CONTROL	11575	LF	\$6.50	\$75,237.50	\$8.00	\$92,600.00	\$1,300.00	\$46,300.00	\$2,000.00	\$46,300.00
31	MOBILIZATION	1	LS	\$300,000.00	\$300,000.00	\$160,000.00	\$160,000.00	\$136,000.00		\$150,000.00	\$150,000.00
32	REMOVING EXISTING BARBED WIRE FENCE	750	LF	\$2.00	\$1,500.00	\$80.00	\$60,000.00	\$5.00	\$3,750.00	\$5.00	\$3,750.00
33	REMOVE AND REPLACE BARBED WIRE FENCE	70	LF	\$165.00	\$11,550.00	\$80.00	\$5,600.00	\$20.00	\$1,400.00	\$25.00	\$1,750.00
	SAFETY FENCE, 4 FOOT HIGH, ORANGE PLASTIC		1								
34	FENCE	300	LF	\$20.00	\$6,000.00	\$50.00	\$15,000.00	\$3.00	\$900.00	\$7.00	\$2,100.00
35	PROJECT SIGN	2	EA	\$3,500.00	\$7,000.00	\$5,000.00	\$10,000.00	\$952.00	\$1,904.00	\$2,000.00	\$4,000.00
36 37	FLEXIBLE BASE REPAIR ASPHALT PAVEMENT REPAIR	540	SY	\$14.00	\$7,560.00	\$185.00	\$99,900.00	\$52.00	\$28,080.00	\$25.00	\$13,500.00
38	CONCRETE PAVEMENT REPAIR	1400 200	SY SY	\$49.00 \$265.00	\$68,600.00 \$53,000.00	\$200.00 \$220.00	\$280,000.00 \$44,000.00	\$30.00 \$120.00	\$42,000.00 \$24,000.00	\$50.00 \$50.00	\$70,000.00 \$10,000.00
39	BARRICADES, SIGNS, AND TRAFFIC HANDLING	6	MO	\$3,500.00	\$33,000.00		\$144,000.00	\$2,400.00	\$14,400.00		\$30,000.00
40	CONCRETE SIDEWALK REPAIR	25	SY	\$185.00	\$4,625.00	\$85.00	\$2,125.00	\$2,400.00	\$1,850.00	\$5,000.00	\$1,875.00
	SWPPP AND NOI IN ACCORDANCE WITH ROUND	1	 ~ .	\$100,00	\$ 1,020.00	\$00.00	\$2,120.00	\$7.1100	\$1,000.00	\$15.00	41,070.00
41	ROCK DRAINAGE CRITERIA MANUAL	1	LS	\$5,000.00	\$5,000.00	\$75,000.00	\$75,000.00	\$12,000.00	\$12,000.00	\$5,000.00	\$5,000.00
42	OWNER'S ALLOWANCE	1	LS	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
	TOTAL BASE BID		<u> </u>		\$6,502,842.50		\$7,869,465.00		\$5,927,414.00		\$5,789,130.00
	ALTERNATE BID AMOUNT TOTAL ALTERNATE BID		 		NO BID \$6,502,842.50		\$198,000.00 \$8,067,465.00		\$110,200.00 \$6,037,614.00		\$133,500.00 \$5,922,630.00
			•						, ,		,,

Kenney Fort Blvd. 24" Reuse Water Line

Kenney Fort Blvd. 24" Reuse Water Line

PROJECT:

PROJECT:

28

32

33

35

36

40

42

ROCK BERM

MOBILIZATION

PROJECT SIGN

FLEXIBLE BASE REPAIR

OWNER'S ALLOWANCE

ASPHALT PAVEMENT REPAIR

CONCRETE PAVEMENT REPAIR

CONCRETE SIDEWALK REPAIR

ROCK DRAINAGE CRITERIA MANUAL

FENCE

STABILIZED CONSTRUCTION ENTRANCE

REMOVING EXISTING BARBED WIRE FENCE

REMOVE AND REPLACE BARBED WIRE FENCE

SAFETY FENCE, 4 FOOT HIGH, ORANGE PLASTIC

BARRICADES, SIGNS, AND TRAFFIC HANDLING

SWPPP AND NOI IN ACCORDANCE WITH ROUND

SILT FENCE FOR EROSION CONTROL

BID TABULATION

BIDS EXTENDED AND CHECKED

BY:

DATE: October 15, 2025

LOCATION: Virtual (Teams) Santa Clara Construction, Lt SJ Louis Construction of Texas Trinity Site Construction **Company Name: BID DATE:** 10/15/2025 Statement of Safety? Yes Statement of Safety? Yes Statement of Safety? Yes **Statement of Safety?** Addendum(s)? Addendum(s)? Addendum(s)? Addendum(s)? **Bid Bond?** Bid Bond? Yes Bid Bond? Yes Bid Bond? Yes **APPROX** UNIT UNIT UNIT QTY. UNIT UNIT PRICE COST PRICE COST **PRICE** COST PRICE COST ITEM# PREPARING RIGHT OF WAY \$100,000.00 \$100,000.00 \$250,000.00 \$250,000.00 \$106,210.00 \$106,210.00 \$0.00 LS CLEARING AND GRUBBING 3 AC\$10,000.00 \$30,000.00 \$6,200.00 \$18,600.00 \$16,790.00 \$50,370.00 \$0.00 JACKING OR BORING, STEEL ENCASEMENT PIPE, 42-INCH DIA 340 \$2,000.00 \$401,200.00 LF \$680,000.00 \$928.00 \$315,520.00 \$1,180.00 \$0.00 TRENCH SAFETY SYSTEMS (ALL DEPTHS) 10500 LF \$1.00 \$10,500.00 \$105.00 \$1.00 \$10,500.00 \$0.01 \$0.00 PIPE, 6-INCH DIA PVC C900, RESTRAINED (ALL DEPTHS), INCLUDING EXCAVATION AND \$11,280.00 BACKFILL 120 LF \$94.00 \$40.00 \$4,800.00 \$56.00 \$6,720.00 \$0.00 PIPE, 8-INCH DIA PVC C900 (ALL DEPTHS), INCLUDING EXCAVATION AND BACKFILL 40 LF \$84.00 \$3,360.00 \$50.00 \$2,000.00 \$143.00 \$5,720.00 \$0.00 PIPE, 12-INCH DIA PVC C900 (ALL DEPTHS). INCLUDING EXCAVATION AND BACKFILL 60 LF \$75.00 \$121.00 \$116.00 \$6,960.00 \$4,500.00 \$7,260.00 \$0.00 PIPE, 16-INCH DIA DUCTILE IRON, RESTRAINED (ALL DEPTHS), INCLUDING EXCAVATION AND BACKFILL 20 LF \$157.00 \$3,140.00 \$100.00 \$2,000.00 \$254.00 \$5,080.00 \$0.00 PIPE, 24-INCH DIA DUCTILE IRON (ALL DEPTHS), 6940 NCLUDING EXCAVATION AND BACKFILL LF \$291.00 \$2,019,540.00 \$320.00 \$2,220,800.00 \$224.50 \$1,558,030.00 \$0.00 PIPE, 24-INCH DIA DUCTILE IRON, RESTRAINED (ALL DEPTHS), INCLUDING EXCAVATION AND 3070 BACKFILL LF \$353.00 \$1,083,710.00 \$426.00 \$1,307,820.00 \$265.00 \$813,550.00 \$0.00 PIPE, 24-INCH DIA DUCTILE IRON, RESTRAINED (ALL DEPTHS), INCLUDING EXCAVATION AND CEMENT STABILIZED SAND BACKFILL 100 LF \$555.00 \$55,500.00 \$529.00 \$52,900.00 \$438.50 \$43,850.00 \$0.00 PIPE, 24-INCH DIA HDPE DR 11 (DIPS, ALL DEPTHS), INCLUDING EXCAVATION AND CEMENT STABILIZED SAND BACKFILL 500 LF \$442.00 \$221,000.00 \$378.00 \$189,000.00 \$446.00 \$223,000.00 \$0.00 PIPE, 24-INCH DIA HDPE DR 11 (DIPS, ALL DEPTHS), INCLUDING EXCAVATION AND BACKFILL 800 LF \$147,200.00 \$202.00 \$161,600.00 \$209.00 \$167,200.00 \$184.00 \$0.00 DUCTILE IRON FITTINGS 4 INCH THROUGH 24 INCH 22 \$2,200.00 \$184,140.00 TN\$100.00 \$1.00 \$22.00 \$8,370.00 \$0.00 WET CONNECTIONS, 8-INCH DIA \$20,000.00 \$5,600.00 \$3,445.00 EΑ \$20,000.00 \$5,600.00 \$3,445.00 \$0.00 WET CONNECTIONS, 12-INCH DIA \$20,000.00 \$20,000.00 \$5,900.00 \$5,900.00 \$3,822.00 \$3,822.00 \$0.00 EAWET CONNECTIONS, 16-INCH DIA \$20,000.00 \$20,000.00 \$12,100.00 \$12,100.00 \$15,070.00 EΑ \$15,070.00 \$0.00 WET CONNECTIONS, 24-INCH DIA CUT-IN TEE \$13,800.00 \$22,870.00 EA \$25,000.00 \$25,000.00 \$13,800.00 \$22,870.00 \$0.00 19 DRAIN VALVE ASSEMBLIES 5 \$12,000.00 \$60,000.00 \$13,100.00 \$65,500.00 \$15,656.00 \$78,280.00 AUTOMATIC COMBINATION AIR/VACUUM \$241,650.00 RELEASE VALVE ASSEMBLY, TYPE II, 3-INCH DIA 6 EΑ \$45,000.00 \$270,000.00 \$40,700.00 \$244,200.00 \$40,275.00 \$0.00 5 \$20,000.00 \$11,675.00 VALVES, GATE VALVE (WITH BOX), 6-INCH DIA \$4,000.00 \$3,000.00 \$15,000.00 \$2,335.00 \$0.00 EΑ VALVES, GATE VALVE (WITH BOX), 8-INCH DIA \$5,000.00 \$5,000.00 \$4,100.00 \$4,100.00 \$2,660.00 EA \$2,660.00 \$0.00 23 \$300,780.00 VALVES, GATE VALVE (WITH BOX), 24-INCH DIA 9 EA \$56,000.00 \$504,000.00 \$31,450.00 \$283,050.00 \$33,420.00 \$0.00 SEEDING FOR EROSION CONTROL 9005 SY\$2.00 \$18,010.00 \$3.00 \$27,015.00 \$2.80 \$25,214.00 \$0.00 SOIL RETENTION BLANKET CLASS 1, TYPE C 200 SY\$10.00 \$2,000.00 \$10.60 \$2,120.00 \$31.00 \$6,200.00 \$0.00 520 PROTECTIVE FENCING TYPE A CHAIN LINK FENCE LF \$10.00 \$5,200.00 \$4.10 \$2,132.00 \$5.70 \$2,964.00 \$0.00 TREE REMOVAL (ALL SIZES) 25 \$1,000.00 \$25,000.00 \$1,000.00 \$25,000.00 \$503.00 \$12,575.00 EA \$0.00

330

4

11575

750

70

300

2

540

1400

200

6

25

TOTAL BASE BID

ALTERNATE BID AMOUNT

TOTAL ALTERNATE BID

LF

EA

LF

LS

LF

LF

LF

EA

SY

SY

SY

MO

SY

LS

\$40.00

\$5.00

\$5.00

\$20.00

\$10.00

\$45.00

\$40.00

\$155.00

\$2,000.00

\$100.00

\$17,000.00

\$50,000.00

\$1,000.00

\$4,000.00

\$600,000.00

\$13,200.00

\$16,000.00

\$57,875.00

\$600,000.00

\$3,750.00

\$1,400.00

\$3,000.00

\$2,000.00

\$24,300.00

\$56,000.00

\$31,000.00

\$12,000.00

\$2,500.00

\$17,000.00

\$50,000.00

\$6,258,625.00

\$6,685,825.00

\$427,200.00

\$30.00

\$2.60

\$2.00

\$50.00

\$2.00

\$28.00

\$283.00

\$90.00

\$50.00

\$500.00

\$50,000.00

\$2,000.00

\$2,000.00

\$2,500.00

\$525,000.00

\$9,900.00

\$10,000.00

\$30,095.00

\$525,000.00

\$1,500.00

\$3,500.00

\$600.00

\$4,000.00

\$15,120.00

\$396,200.00

\$18,000.00

\$12,000.00

\$1,250.00

\$500.00

\$50,000.00

\$6,312,849.00

\$6,437,649.00

\$124,800.00

\$28.00

\$3.00

\$4.70

\$5.40

\$1,083.00

\$520.00

\$40.50

\$78.00

\$69.00

\$5,055.00

\$9,210.00

\$50,000.00

\$205.00

\$3,033.00

\$163,640.00

\$9,240.00

\$12,132.00

\$34,725.00

\$163,640.00

\$3,525.00

\$14,350.00

\$1,620.00

\$2,166.00

\$280,800.00

\$56,700.00

\$15,600.00

\$30,330.00

\$1,725.00

\$9,210.00

\$50,000.00

\$4,995,798.00

\$5,118,048.00

\$122,250.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00